S

SAFCO ASSEMBLY INSTRUCTIONS

an LDI Spaces Company INSTRUCTIONS DE MONTAGE
Minneapolis, MN 55428
e et o INSTRUCCIONES DE ENSAMBLAJE
@
Réve™
Task Chair
Chaise pour les Taches
Silla para las Tareas
[
PRODUCT WARRANTY is available online at: www.safcoproducts.com
« LA GARANTIE DU PRODUIT est « LA GARANTIA DEL PRODUCTO esta
disponible sur I'Internet : www.safcoproducts.com disponible en la Internet: www.safcoproducts.com
®
_ For questions_or concerns glease call 1-800-664-0042
available Monday-Friday 7:30 AM to 5:00 PM (Central Time) (English-speaking operators)
Si vous avez des questions pour poser ou les préoccupations Si usted tiene preguntas o preocupaciones,
pour exprimer, connecter au 1-800-664-0042 por favor llame 1-800-664-0042
de 7H30 a 17HO0 (Heure centrale) (Opérateurs de langue anglaise) de 7:30 AM a 5:00 PM (Hora Central) (Operadores que hablan inglés)
®

100680937: 1 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428



§Note: When corresponding about parts, be sure to state
color: Natural (NA), Mahogany (MH), Cherry (CY), Black

PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS

CODE / DESCRIPTION / DESCRIPTION /DESCRIPCION o o e (BL), Lapis (LA), Grass (GS), Latte (LT), Crimson (CI), Pearl
CODIGO CANTIDAD DE PIEZA (PE)
ﬂ Seat/ Siége / Asiento 1 100402101 Plum (PL), or Carbon Fiber (CF).

@ Chair Base / Chaise base / Base silla . ) .
1 100402104 §Noter: Quand correspondre au sujet de parties, soyez sir

d’affirmer la couleur: Naturel (NA), Acajou (MH), Cerise (CY),
11100402107 | Noir (BL), Lapis (LA), Herbe De Couleur (GS), Latté (LT),

@ Casters / Roulettes / Ruedas 5 100402125 Cramoisi (Cl), Perle De Couleur (PE), Prune (PL) ou Fibre De
b F).
@ Pump Assembly / LAssemblage du Cylindre / Asamblea del Cilindro Carbone (CF)
Standard / Niveau / Estandar 1 100402111 §Note: Al corresponder sobre las piezas, esté seguro declarar

1 100402111 el color: Natural (NA), Caoba (MH), Cereza (CY), Negro (BL),
Lapis (LA), Color De La Hierba (GS), Latté (LT), Carmesi (Cl),

M%a"ism / Mécanisme / Mecanismo 1100402105 | pe Color Perla (PE), Ciruela (PL), o Fibra De Carbono (CF).
Back / Dossier / Respaldo
Round / Ronde / Alrededor 1 100402102
Mesh / Mailles / Malla 1 100402110
Square / Carré / Cuadrado 1 100402103

@ Frame / Cadre / Marco
1 1100402106
1 1100402106

OPTIONAL / EN OPTION / OPCIONAL

Pump Assembly / L'Assemblage du Cylindre / Asamblea del Cilindro

Extended / Prolongé / Extendido 1 100418213
1 100418213
Foot Ring / Anneau Pied / Anillo de del Pie
1 100418210
1 100418210
Arm Frame Left / Cadre Bras Gauche / Marco Brazo Izquierdo
1 100402112
1 100402112
Arm Frame Right / Cadre de Bras Droit / Derecha Marco de Brazo
1 100402113
1 100402113
Arm Pad / Coussin de Bras / Cojin Brazo 2 100402128

© ® e o e

Hardware Parts / Paquet Matérial / Paquete Material

: &) f
Screw (#8x5/8”) Screw (M5x30mm) Screw (M8x20mm) Screw (M6x24mm) Screw (1/4”-20x1-3/4”)
Vis (#8x1.587cm) Vis (M5x3cm) Vis (M8x2cm) Vis (M6x2.4cm) Vis (.635-20x4.445¢m)
Tornillo (#8x5/8pulg) Tornillo (M5x1.181pulg) Tornillo (M8x0.787pulg) Tornillo (M6x0.944pulg) Tornillo (1/4pulg-20x1-
3/4pulg)
Qty./ Qté. / Cant. 2 Qty./ Qté. / Cant. 2 Qty./ Qté. / Cant. 4 Qty./ Qté. / Cant. 6 Qty./ Qté. / Cant. 4
100402233 100402134 100402127 100402126 100402128

o
100680937: 2 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428



(2)

®
100680937: 3 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428



DO NOT PUSH ON BUTTON AT THE

NOTE: REMOVE PLASTIC CAP TOP!
LA NOTE: ENLEVEZ LE BOUCHON PLAS- NE POUSSER PAS SUR BOUTON AU
~ TIQUE SOMMET ! ,
NOTA: REMUEVA EL TAPON PLASTICO INO EMPUJE EN EL BOTON AL EX-

TREMO!

) orR/0U/0 @

]
100680937: 4 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428




DO NOT PUSH ON BUTTON AT THE
TOP!

NE POUSSER PAS SUR BOUTON AU
SOMMET ! ,

INO EMPUJE EN EL BOTON AL EX-
TREMO!

NOTE: REMOVE PLASTIC CAR

LA NOTE: ENLEVEZ LE BOUCHON PLAS-
TIQUE

NOTA: REMUEVA EL TAPON PLASTICO

®
100680937: 5 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428



100680937: 6 of 6; Rev A; Rev Date 08-AUG-2016 Safco Products Company, New Hope, MN 55428



